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1 NTo Jris] 4Sx = -590 x 4S +1 -450 4
2 2] ¢ x 3NT -1 50 x INT +1 -120 5
3 panyiic] 1t INT -3 -150 x 2NT -3 300 10
4 =] x INTX = -180 [ri] 2S +1 -140 1
5 2] Jris] 3NT = -400 [ri] 2H +1 -140 6
6 panyiic] x 3NT = -600 x INT +1 -120 10
7 =] 1t 2S +2 170 it 3S +1 170
8 NTo Jris] 6D -2 100 [ri] 5D -1 50 2
9 panyiic] [£3] INT -1 -50 [£3] INT -1 -50
10 | B Jris] 2SX -1 200 [£3] 3NT = 600 9
11 | XN [£3] 5C = 400 it 3NT -1 -50 10
12 | @it 1t 4S = 620 it 4S = 620
DATUM& it L
RLES I HERT Y. 5 +] 17 | 40
B 55 /R RK I G ES Aait 17 | 40
{EHEZE/AIENE DRI/ V.P. 3.82 | 16.18
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1 NTo 1t 3NT = 400 5| 3NT = 400
2 2] ¢ x 2NT = -120 LL PAS 3
3 panyiic] x 3NT = -600 [ri] 4H -1 100 12
4 =] Jris] 5D -2 200 1t 2S +1 140 2
5 2] ¢ x 1H = -80 1t 2NT -1 -100 1
6 panyiic] [£3] INT +2 150 1t 3SNT -1 -50 5
7 =] x 4H = -620 x 4H = -620
8 TS x 4H +1 -450 x 4H +1 -450
9 panyiic] 1t 1H +1 110 x 1Dx = -140 6
10 | B [£3] 4H +1 650 it 4H = 620 1
11 | XN x 4S = -420 [ri] 3NT -1 50 10
12 | @it [£3] 2S -1 -100 [£3] 2S = 110 5
DATUM& it L
iRHIIZZRA IR Y. 5+ 15 | 30
(AEE/EAE= S IR LI ) Aait 15 | 30
Srpfs/Hie SR/ EHE V.P. 5.54 | 14.46
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1 NTo x 3D -1 50 [ri] 2NT -3 150 3
2 2] ¢ x 2S -1 50 [ri] 2S = -110 4
3 panyiic] Jris] 4H +1 -650 [ri] 4H +2 -680 1
4 =] x 4Dx -1 200 [ri] 3NT -1 100 3
5 2] ¢ 1t 3SNT +2 660 1t INT +2 150 11
6 panyiic] x 3NT -3 300 1t 4Sx -3 -500 13
7 =] [£3] 6C = 1370 1t 3C +3 170 15

8 NTo Jris] 3SNT +3 -490 [ri] 3SNT +2 -460 1

9 panyiic] x 2H = -110 LL PAS 3
10 | B Jris] 3Sx -2 500 [ri] INT +1 -120 12

11 | XN [£3] 4S +1 450 [£3] 4S +1 450
12 | @it Jris] 2H -1 50 [ri] INT = -90 4
DATUM& it L

IR R3PS £ERA Y. 4+ 63 7

TS/ R Xla]/Z=28 Aait 63 7
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1 NTo [£3] 3SNT +3 490 [£3] 3SNT +3 490
2 2] ¢ Jris] 4S +1 -450 [ri] 4S = -420 1
3 panyiic] Jris] 4D +2 -170 [ri] 4D +1 -150 1
4 =] [£3] 2H +3 200 [£3] 2H +2 170 1
5 2] ¢ 1t 4S -1 -100 [£3] 3S = 140 6
6 panyiic] x 2H +1 -140 1t INT +1 120 6
7 =] 1t 6C = 1370 [£3] 3SNT +2 660 12
8 TS x 3NT = -400 x 3NT = -400
9 panyiic] Jris] 2Dx -3 800 x 2HXx -2 500 7
10 | B Jris] 4Sx -4 1100 [ri] 4Sx -4 1100
11 | XN [£3] INT -1 -50 [£3] 2D -1 -50
12 | @it Jris] 2NT = -120 x 2NT +1 -150 1
DATUM& it L
iwYIk22BA I HETHR Y. 5+ 21 14
ek/Fx SR/ ait 21 14
FR/FEER BN/ SER, V.P. 12.31| 7.69
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1 NTo Jris] 3NT = -400 [ri] 3NT = -400
2 2] ¢ [£3] 4H +3 710 [£3] 6H = 1430 12
3 panyiic] 1t 3NT = 400 1t 3NT -1 -50 10
4 =] Jri] INT = -90 [ri] INT = -90
5 | mEit LL PAS LL PAS
6 panyiic] LL PAS LL PAS
7 =] Jris] 4H +2 -680 [ri] 4H +2 -680
8 NTo [£3] 3NT +2 460 [£3] 5C = 400 2
9 panyiic] [£3] 3D -2 -100 [ri] 4S -2 200 7
10 | B [£3] 2C -1 -100 R INT +2 -150 2
11 | XN Jris] 3NT = -400 x 4H +1 -450 2
12 | @it 1t 6S -2 -200 1t 4S +1 650 13
DATUM%it iBE
HiEAKTEA HFEBSPARK =3 16 | 32
FESIE/MIkIE PR IR ait 16 | 32
BN/ GRS Fas/EF V.P. 53 | 14.7
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1 NTo 1t 6S = 980 5| 6S +1 1010 1
2 2] ¢ x 6H = -980 x 6H = -980
3 panyiic] Jris] 3NT -1 100 [ri] 3NT = -600 12
4 =] [£3] 3D +1 130 [ri] 3S = -140 V4
5 | mEit LL PAS LL PAS
6 panyiic] LL PAS LL PAS
7 =] Jris] 4H = -620 [ri] 4H +1 -650 1
8 NTo x 3NT +2 -460 [ri] 3NT +3 -490 1
9 panyiic] 1t 2D -1 -50 it 2NT = 120 5
10 | B 1t 5D -2 -200 [£3] 5Cx -1 -200
11 | XN 1t 3NT = 400 x 2SX -1 100 7
12 | @it 1t INT -1 -100 [£3] 3S -3 -300 5
DATUM%sit iBE
FRERE B F 55 P S ] 33 6
XU/ SR ER EE&/IE ait 33 6
BB E/IRT Z50ih/ B/ N V.P. 16.91 | 3.09
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1 NTo Jris] 3NT +3 -490 [ri] 3NT +3 -490
2 2] Jris] 4HX -2 300 [£3] 3NTX = 750 10
3 panyiic] [£3] 3NT +2 460 [£3] 3NT +1 430 1
4 =] Jris] 5D = -600 [ri] 6D -1 100 12
5 2] ¢ R 2D -1 50 x 3H +2 -200 6
6 panyiic] 1t 4S = 420 [£3] 4S = 420
7 =] 1t 4H +1 650 [ri] 5Cx -2 500 4
8 NTo [£3] 2H +1 140 [ri] INT -2 100 1
9 panyiic] 1t 3H = 140 1t 3H = 140
10 | B R 3H = -140 1t 4S -1 -100 1
11 | XN Jri] 3NT +1 -430 A |3NTxx| +1 |[-1000 11
12 | @it Jri] 4D = -130 [£3] 5C -1 -100 1
DATUM&it L
RE B HEERE r: 3+ 23 | 24
VAT, X SPIELT /1T BRI ait 23 | 24
KR =/ I0RD FEFETESSTIN V.P. 9.64 |10.36
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1 NTo 1t 5D -1 -50 [£3] 4H = 420 10
2 2] ¢ Jris] 4S +1 -450 [ri] 4H -1 50 11
3 panyiic] 1t 2S = 110 it 3C -1 -50 4
4 =] 1t 4S +1 650 5| 4S +1 650
5 2] ¢ x 4S -1 50 x 2S +1 -140 5
6 panyiic] x 4Sx -1 200 x 5Sx -2 500 7
7 =] Jris] 2S -1 100 it 2NT -1 -100 5
8 NTo x 2S = -110 x 4S -1 50 4
9 panyiic] x INT -2 200 [ri] INT -1 100 3
10 | B [£3] 2NT -4 -400 [£3] 2NTXx -5 -1400 14
11 | XN 1t 4HXx -2 -300 [£3] 4D -3 -150 4
12 | @it [£3] 3S +1 170 [£3] 4S -1 -100 V4
DATUM& it L
i~ E I iRERESRA Y. 4+ 38 | 36
ERBAE/ERRR RS Aait 38 | 36
IREE/LIRg RINER/EIR V.P. 10.71 | 9.29
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1 NTo 1t 5Dx -2 -300 x 6C -2 100 9
2 2] ¢ x 3NT = -400 x 3NT = -400
3 panyiic] Jris] 4S +1 -650 [ri] 7H -1 100 13
4 =] 1t 6S = 1430 1t 6NT -1 -100 17
5 2] ¢ x 2S +2 -170 [ri] 3SNT -1 50 6
6 panyiic] 1t 3NT -5 -250 it 3NT -1 -50 5
7 =] [£3] 5S +1 680 [£3] 6S = 1430 13
8 TS 1t 4H -1 -50 [£3] 2H +1 140 5
9 panyiic] Jris] 4H -2 200 [£3] 5Dx -2 -300 11
10 | B 1t 3NT -1 -100 5| 3NT = 600 12
11 | XN x 5H -1 50 x 3SNT +1 -430 10
12 | @it [£3] 4HX +1 990 [£3] 4H +1 650 8
DATUM& it L
ZZRkPA [E3f 3P Y. 5+ 46 | 63
5w/ TR BRBE R /TC £+ ait 46 | 63
=R/ H{S37/htEk V.P. 5.07 | 14.93
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1 NTo [£3] 5Hx -2 -300 x 4S = -420 3
2 2] ¢ 1t 3D = 110 it 3D = 110
3 panyiic] 1t 4H -2 -100 it 4H -1 -50 2
4 =] Jris] 2S -2 200 [ri] 3S -1 100 3
5 2] ¢ Jris] 4H +1 -450 [ri] 4H +1 -450
6 panyiic] [£3] INT -1 -50 [£3] INT -2 -100 2
7 =] Jris] 3SNT +2 -660 x 3SNT +4 -720 2
8 NTo [£3] 4S = 420 [£3] 2S +2 170 6
9 panyiic] [£3] INT +2 150 x 2H -1 100 2
10 | B Jris] 2H = -110 x 4HXx -2 500 12
11 | XN [£3] 3C -3 -150 it 3NT -2 -100 2
12 | @it [£3] 2S -1 -100 it 2NT -2 -200 3
DATUM& it L
ZE RN ERA ExigERPA Y. 5 +] 21 16
SPESES 2E2X/MAVLT Aait 21 16
fEN =/ SR/ B V.P. 117 | 83
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x| mn| BR | m |en | me | B | 2 | g8 | e 2|
1 NTo 1t 3D -1 -50 [ri] 3H = -140 3
2 2] ¢ [£3] 3NT +2 660 [£3] 3NT +1 630 1
3 panyiic] 1t 3S -1 -50 x 3D +2 -150 3
4 =] 1t 4Sx -2 -500 [ri] 4H +2 -680 5
5 2] ¢ R 3C +1 -130 [ri] 3NT +1 -430 Ve
6 panyiic] 1t 2H -1 -50 [ri] INT +1 -120 2
7 =] [£3] 5HxX -2 -500 x 4S = -620 3
8 NTo R 5Cx -4 800 5| 4S -2 -100 14
9 panyiic] Jris] 2HX +1 -870 x 2D -1 100 14
10 | B Jris] 4Sx -1 200 [ri] 3NT -1 100 3
11 | XN 1t 4Sx -3 -500 x 4C +1 -150 8
12 | @it [£3] 3NT = 600 [£3] 3NTX -3 -800 16
DATUM%it iBE
HEE SKYPA Y. 1 57 22
Z= T E/MRIR ¥ 5e3E/Z=RBED ait 57 | 22
FEIR/A7% EE/TEK V.P. 18.14 | 1.86




20156F “REEIIN" BFE

O 913 5

25 $FFIPA

VS

201543 H7H

26 §0=F

FF=

ZiES

EZIUN BT

EZIUN

it : =

K

B2 7

ﬁ .

BX | BR| BER | &Y | 5R | it

EPM | E
IMP | IMP

1
A8

ity

T

Fadk

R

Es]

Fadk

R

Es]

T

Ol N|[o|O|hr~|[W]|IN]|PER

R

[ERY
o

Es]

=
=

XNFo

[ERY
N

Fadt

DATUM it

EFIRA
/ O
/ O

i

+F1%

ait

V.P. 10 10




